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Algebra I - Unit 1: Topic 2 — Solving Multi-Step Inequalities
Practice - Solving Multi-Step Inequalities pp 188-190
Solve the following inequalities. Graph each answer on the number line provided.

1. -11-9x>-47 2. 7a-5<9

4. 4n-6=6n-20

0
Solve eachgd uality and check your answer.
5. SpeA(p-0)=0 6. 1592m 7. t+3_ g 8. Sx-l g
‘ 3 2 5
Sp-lpth&Dd | s
3 .t % 24—- 3
u{ % pIAN]
/Z' =
2 > .AD) == < 2’+
Define a variable, write an inequality, and sclve cach problem. Then check your solution.
9. Two-thirds of a number decreased by 27 is at 10, The sum.of a number and 84 is greater than
least 9. the —3 and the same number.
—

1

oy

. Carol is buying asparagus and bananas at the grocery store. Asparagus costs ﬁﬂ% ;jé( puund’aﬁd%nanas
cost $0.50 per pound. Which inequality best represents the number of pounds of asparagus, a, and bananas,
b that Carol can purchase with at most $20.00.

A 32+0.5b6<20 c 33+0.56<20
B 3a+0.56>20 D 3a+0.56=20

1

™~

. The county water department charges a monthly administrative fee of $10.40 plus $0.0059 for each gallon of
water used. Glen's family always pays more than $35 each month for water. Which inequality best
represents the number of gallons of water, g, Glen’s family uses each month?

A. 10.4g+ 0.0059 > 35 B. 10.4g — 0.0059 < 35
C. 0.0059g + 10.4 > 35 D. 0.0059g - 10.4 < 35
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| Question inequality with more than 72 parts?

[Compound Inequality: =9 L0\ y N< 1L = “Llan a2 ]

Graph thgbgegm poundéingquo lity.
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Write the compound inequality shown by each graph.
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Essential ° -
| Question _inequality with more than 2 ports®
Solve the compound mequoll’cjyc and graph the solution set.

0. 5 2x+ _95
=21 o2 12 3\«@3: g,_
(2EXZb] erens, __& 2

o\ 1D

A0 %0 _L\.4X43

on a full tank of gas. He filled his tank up $10 but no more than $16. What amounts could his
and drove 45 miles. HOW many more mileés can he allowance have Lieen eforet |n se?

drive W'th°l wnw\ouw’%nm‘s

—_—

bedw Q-é\fk A2, D3O

wWnbve tn\RsS.

25 o = 5U)6

H—H—O—O—W’—ﬁ—ﬁj rg&ﬂa—«—«m—»—w g

1 Z:Wr gan Za 380 and 410 miles, 8 Jose sgll_omamms_doubled and is now greater than |-

- -
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_Question

inequality with more thon 2 parts?
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O €< 40

An acute angle is (Z_Zx - 6§°.
" Which of the following are

possible valueefor X?

&9

Ay £ o'ohuse <L \60

(. If an obtuse angle is (4x — 10)°, |
which of the following could (jjot |)

be a value of x?

A X =2 9,\~to A x =28
BX—10/} 20°>>b> \;Lt: B. x = 30.5
¥5)— b=
CX—45 2 (62) -l C.x =45
Drx =55 PfX—4751
AX— 0 ap & ux-\0D4\ 00
_r\‘ .‘—\' D +\0 | 10O
v = Z L‘ksé Z\q
Yy Ml N
DL K<L 1B 964x4uﬂ~<p
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Algebra I - Unit 1: Topic 4 — Compound Inequalities

Practice: Compound Inequalities
Write the compound inequality shown by each graph.

A T |
1T 1 Y - Y il
2

I I
T T 1
-1 01 2 3 4 5 &

pp 202-205

| I | [ . |

T T T % v T
—40-30-20-10 O 10 20 30 40

8. The temperature in a pet iguana’s cage should be
between 70° F and 95° F, inclusive.

Solve each compound inequality and graph the solutions.

3. -15«x-8<-4

4. 12<4n <28

5. -2<3b+7<13

6.

5<3x-1<17

c -2 D 5

Write a compound inequality for each problem. Graph the solutions.

10. A tropical fish requires a water temperature
between 68° F and 77° F, inclusive. An aquarium is

heated 8 degrees so that a Tetra can live in it. What
temperatures could the water have been before the
heating?

9. Water is a liquid if its temperature is less than 100°C
and greater than D°C.

11. Nathan will be working between 30 to 39 hours ,

inclusive, this week which is triple what he worked last
week. How many hours did Nathan work last week?
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Compound Inedudlities

Answers:
1. -2<x<4
2. 0=x<20
3. T7<x<4
-7 0 4
4, 3<n<7
SR I I I I [ R T O
T O——
0 3 7
5. 3<bh=2
I N I A |
- p——————{—————>
-3 0 2
6. 2<x<6
| I I A R I O |
T T T ——
0 2 6
7. B
8. 70=x <95
9. 0<x <100

10. 68gx+8g77; 60 < x <69
11. 30g3xg39; 10 x <13
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